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QUESTION 1

What are two interarea OSPF LSA types? (Choose two.) 

A. Type 1 router LSAs 

B. Type 2 network LSAs 

C. Type 3 summary LSAs 

D. Type 4 ASBR summary LSAs 

Correct Answer: CD 

 

QUESTION 2

What kind of filter would be written to protect control traffic destined for the switch? 

A. A filter applied to the default VLAN 

B. A filter applied to the native VLAN 

C. A filter applied to the management interface 

D. A filter applied to the loopback interface 

Correct Answer: D 

 

QUESTION 3

Click the Exhibit button. 
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Referring to the exhibit, which port will be selected as the RSTP root port on Switch-4? 

A. ge-0/0/13.0 

B. ge-0/0/8.0 

C. ge-0/0/9.0 

D. ge-0/0/12.0 

Correct Answer: D 

 

QUESTION 4

A BGP session shows the state as active. 

What does the state indicate in this scenario? 

A. A keepalive message has been received. 

B. The BGP session is fully established and routes are being passed. 

C. The TCP connection is successful, and BGP is waiting for the OPEN message from its peer. 

D. The routes are still trying to establish a TCP connection. 

Correct Answer: D 

 

JN0-349 Practice Test | JN0-349 Exam Questions | JN0-349 Braindumps                                3 / 4

https://www.geekcert.com/jn0-349.html
https://www.geekcert.com/jn0-349.html
https://www.geekcert.com/jn0-349.html


https://www.geekcert.com/jn0-349.html
2024 Latest geekcert JN0-349 PDF and VCE dumps Download

QUESTION 5

What are three valid BGP message types? (Choose three.) 

A. refresh 

B. hello 

C. database descriptor 

D. keepalive 

E. update 

Correct Answer: ADE 
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